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% &= e E #® = A % &=
AL TREMER IR AR R REE
SHTE | HH6E R | AMTE | SA6E HE | AMTE | HH6E R | SFTE | SF6E WE | SFTE | SF6E R | HFTE | SF6E R
B F O K 1,515 1,271 244 587 507 80 38.7 39.9 -1.2 131 91 40 78 118 -40 59.5 129.7 -70.2
54 (ITI—) 779 685 94 262 232 30 33.6 33.9 -0.3 79 50 29 23 53 -30 29.1 106.0 -76.9
PR A 444 415 29 155 129 26 34.9 31.1 3.8 14 24 -10 9 30 -21 64.3 125.0 -60.7
5 b HX 105 85 20 37 32 5 35.2 37.6 -2.4 3 4 -1 3 6 -3 100.0 150.0 -50.0
5 bHEK 46 49 -3 19 22 -3 41.3 44.9 -3.6 1 4 -3 2 6 -4 200.0 150.0 50.0
5 bEKX 184 136 48 51 49 2 27.7 36.0 -8.3 61 18 43 9 11 -2 14.8 61.1 -46.3
B2 % b 404 298 106 147 120 27 36.4 40.3 -3.9 18 11 7 25 30 -5 138.9 272.7| -133.8
b= ST ) 72 47 25 48 29 19 66.7 61.7 5.0 5 3 2 6 4 2 120.0 133.3 -13.3
E - 32 33 -1 9 12 -3 28.1 36.4 -8.3 2 1 2 -1 50.0 - 50.0
£ ® W 16 29 -13 8 16 -8 50.0 55.2 -5.2 3 5 -2 2 5 -3 66.7 100.0 -33.3
H R W 13 15 -2 4 5 -1 30.8 333 -2.5 2 -
F S ) 35 29 6 25 16 9 71.4 55.2 16.2 4 1 4 3 1 100.0 300.0 | -200.0
m R W 9 7 2 5 2 3 55.6 28.6 27.0 2 1 1
R W 3 6 -3 3 3 100.0 50.0 50.0 1 -1 1 1 -
5 &1 8 14 -6 4 13 -9 50.0 92.9 -42.9 3 3 9 -9 300.0 | -300.0
wmE AN W 39 15 24 18 10 8 46.2 66.7 -20.5 4 2 2 1 2 -1 25.0 100.0 -75.0
~ B W 12 24 -12 12 9 3 100.0 37.5 62.5 1 1 3 1 2 300.0 - 300.0
E E W 16 7 6 13 -7 37.5 185.7 | -148.2 2 1 1 2 1 100.0 100.0
£ fF 0wW 9 4 4 1 3 44.4 25.0 19.4 1 1 - -
b= R 31 23 8 10 -2 25.8 435 -17.7 2 8 -6 2 2 100.0 25.0 75.0
R AR AT 5 10 -5 1 1 20.0 20.0 3 -3 -
HMEME S AT 3 5 -2 3 100.0 100.0 1 -1 3 -
& O ER Bk |y 3 6 -3 6 1 5 200.0 16.7 183.3 1 -1 4 -
NNy N i) 9 6 3 3 7 -4 333 116.7 -83.4 3 3 5 -5 -
B E B EA - - - -
& M AR 5 TF A7 1 2 -1 3 -3 150.0 | -150.0 - -
P FH AR B o0 T 8 3 5 6 1 5 75.0 33.3 41.7 1 1 -
f FH AR 5 % HT 1 -1 - - 1 -1 - -
EHEFEERN - - - -
AKEBAKFGHET 1 1 - - -
A K BB 3% K ET 5 5 2 2 40.0 - 40.0 - -
NS BB 2 o SR T 2 2 3 1 2 150.0 50.0 100.0 - -
B BNE 1 -1 2 -2 - 200.0 | -200.0 - -
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AL REAEL REK AL REM REER
SIHTE | HI6E B | HMTE | HHI6FE R | HMTE | SAI6E R | HMTE | SF6E R | HMTE | SF6E BR | HMTE | HH6E R

B F O# % 631 485 146 55 42 13 8.7 8.7 753 695 58 454 347 107 60.3 49.9 10.4
[z th bl 360 274 86 34 22 12 9.4 8.0 1.4 340 361 -21 205 157 48 60.3 435 16.8

S b 233 172 61 22 12 10 9.4 7.0 2.4 197 219 -22 124 87 37 62.9 39.7 23.2

dHHKX 40 35 5 2 3 -1 5.0 8.6 -3.6 62 46 16 32 23 9 51.6 50.0 1.6

b EREKX 25 24 1 4 2 2 16.0 8.3 7.7 20 21 -1 13 14 -1 65.0 66.7 -1.7

JHEKX 62 43 19 6 5 1 9.7 11.6 -1.9 61 75 -14 36 33 3 59.0 44.0 15.0
Y-} # bl 188 144 44 12 11 1 6.4 7.6 -1.2 198 143 55 110 79 31 55.6 55.2 0.4
2 th bl 14 12 2 1 1 7.1 8.3 -1.2 53 32 21 41 24 17 774 75.0 24
= % bl 12 11 1 1 -1 9.1 -9.1 18 22 -4 8 9 -1 44.4 40.9 3.5
kv fiE) Ll 5 8 -3 1 2 -1 20.0 25.0 -5.0 8 16 -8 5 9 -4 62.5 56.3 6.2
H = L 4 2 2 1 1 25.0 25.0 7 13 -6 3 5 -2 42.9 385 4.4
8 #t bl 9 13 -4 3 1 2 33.3 7.7 25.6 22 15 7 18 12 6 81.8 80.0 1.8
= 2 L 4 3 3 3 5 2 3 166.7 66.7 100.0
# ) Ll 3 1 2 2 2 66.7 200.0 -133.3 4 -4 1 -1 - 25.0 -25.0
& 11 L 2 -2 1 -1 - 50.0 -50.0 5 9 -4 4 3 1 80.0 33.3 46.7
I S o 5 2 3 30 11 19 17 8 9 56.7 2.7 -16.0
U & L 3 2 1 8 22 -14 9 8 112.5 36.4 76.1
=1 BE bl 1 2 -1 13 4 4 12 -8 30.8 300.0 -269.2
=S 1E L 2 1 1 7 3 4 3 1 2 42.9 33.3 9.6
= = bl 14 3 11 1 -1 33.3 -33.3 15 12 3 6 7 -1 40.0 58.3 -18.3
AR A S AT 3 2 1 2 5 -3 1 1 50.0 50.0
WEBESHE 1 2 -1 2 2
% O #B B [ A7 - - 3 5 -2 2 1 1 66.7 20.0 46.7
/)N BB & B HY - - 6 6 3 2 1 50.0 333 16.7
B E BB AT E N - - - -
& M AR 37 BF A7 - - 1 2 -1 3 -3 150.0 -150.0
f5 FB AR B o8 T 3 3 - 4 3 1 6 1 5 150.0 33.3 116.7
5 BB 5% R AT - - - -
HEBAEAN - - - -
AKEBAKFIHT - - 1 1 -
A K BB 3 K HT - - 5 5 2 2 40.0 - 40.0
DNEER i o R AT 1 -1 1 1 - 2 1 1 2 1 1 100.0 100.0
B RAE - - 1 -1 2 -2 - 200.0 -200.0




